8-19NOV09 - Thomas Hill Road Bridge Project				C&C Construction		Chester Bross Construction Company		Widel, Inc.	
	ROADWAY								
		Quanity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
Item	Description								
1	Mobilization	1	LS	\$16,000.00	\$16,000.00	\$12,000.00	\$12,000.00	\$10,500.00	\$10,500.0
2	Traffic Control	1	LS	\$1,600.00	\$1,600.00	\$1,000.00	\$1,000.00	\$4,500.00	\$4,500.0
3	Construction Staking	1	LS	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.0
4	Excavation	1660	CY	\$4.00	\$6,640.00	\$7.00	\$11,620.00	\$6.50	\$10,790.0
5	Compacted Embankment in Place	810	CY	\$6.00	\$4,860.00	\$8.00	\$6,480.00	\$6.00	\$4,860.0
6	Replacement Fences	550	LF	\$8.00	\$4,400.00	\$5.00	\$2,750.00	\$7.80	\$4,290.0
7	Water Gap	1	EACH	\$2,400.00	\$2,400.00	\$3,100.00	\$3,100.00	\$3,390.00	\$3,390.0
8	1" Surface Rock	68	TONS	\$15.00	\$1,020.00	\$14.00	\$952.00	\$19.40	\$1,319.2
9	2" Type 1 Aggregate (Rolled Stone Base)	138	TONS	\$16.00	\$2,208.00	\$14.00	\$1,932.00	\$19.80	\$2,732.4
10	6" Type 2 Aggregate (2 1/2" Minus Base)	437	TONS	\$16.00	\$6,992.00	\$14.00	\$6,118.00	\$20.00	\$8,740.0
	Type 11 Rock Blanket	1050	TONS	\$19.00	\$19,950.00	\$23.00	\$24,150.00	\$21.80	\$22,890.0
	Seeding/Fertilizing/Mulching	1	l LS	\$2,100.00	\$2,100.00	\$2,800.00	\$2,800.00	\$1,680.00	\$1,680.0
COST =	5 5 6			ADWAY COST =	\$69,670.00	. 2,000.00	\$74,902.00	, ,	\$77,491.6
	BRIDGE			l .	. ,		. ,		
	Description	Quanity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
	Removals	1	LS	\$3,500.00	\$3,500.00	\$4,500.00	\$4,500.00	\$8,000.00	\$8,000.00
14	Pile Point Reinforcement	10	EACH	\$150.00	\$1,500.00	\$125.00	\$1,250.00	\$98.00	\$980.00
15	Structural Steel Piles (HP 10X42	430	LF	\$35.00	\$15,050.00	\$32.00	\$13,760.00	\$35.40	\$15,222.00
16	Class B1 Concrete	106	CY	\$490.00	\$51,940.00	\$525.00	\$55,650.00	\$448.00	\$47,488.00
	Reinforcing Steel (Epoxy Coated)	14860	LBS	\$1.05	\$15,603.00	\$0.90	\$13,374.00	\$0.93	\$13,819.80
18	Plain Neoprene Bearing Pads	6	EACH	\$100.00	\$600.00	\$625.00	\$3,750.00	\$100.00	\$600.00
19	P/S Concrete I-Girder (70' Span)	3	EACH	\$13,350.00	\$40,050.00	\$13,000.00	\$39,000.00	\$15,000.00	\$45,000.00
	SL-1 Thrie Beam Rail	183	LF	\$60.00	\$10,980.00	\$60.00	\$10,980.00	\$75.00	\$13,725.00
			TOTAL BRIDGE COST =		\$139,223.00		\$142,264.00		\$144,834.8
			TOTAL AMOUNT OF BID =		\$208,893.00		\$217,166.00		\$222,326.4
2 3 4 5 6 7 8	Bid Response				Yes		Yes		Yes
	Statement of Bidder's Qualifications				Yes		Yes		Yes
	Bidding Forms				Yes		Yes		Yes
	Anti Collusion Statement				Yes		Yes		Yes
	Signature and Identity of Bidder				Yes		Yes		Yes
	Bidders Acknowledgment				Yes		Yes		Yes
	Work Authorization Certification				Yes		Yes		Yes
	Bid Bond				Yes		Yes		Yes
	E-Verification				Yes		No		No

BRS Construction **Sharp Excavating LLC Unit Price** Total **Unit Price** Total \$21,000.00 \$21,000.00 \$15,000.00 \$15,000.00 \$2,600.00 \$2,600.00 \$3,500.00 \$3,500.00 \$2,000.00 \$2,000.00 \$1,500.00 \$1,500.00 \$6.00 \$9,960.00 \$6.50 \$10,790.00 \$6.00 \$4,860.00 \$8.50 \$6,885.00 \$5.00 \$2,750.00 \$6.50 \$3,575.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$17.00 \$884.00 \$1,156.00 \$13.00 \$17.00 \$2,346.00 \$13.00 \$1,794.00 \$17.00 \$7,429.00 \$13.00 \$5,681.00 \$21.50 \$22,575.00 \$30.00 \$31,500.00 \$3,500.00 \$3,500.00 \$1,800.00 \$1,800.00 \$82,176.00 \$84,909.00 **Unit Price** Total **Unit Price** Total \$6.00 \$6.00 \$14,000.00 \$14,000.00 \$125.00 \$1,250.00 \$125.00 \$1,250.00 \$35.00 \$15,050.00 \$25.00 \$10,750.00 \$475.00 \$50,350.00 \$450.00 \$47,700.00 \$1.15 \$17,089.00 \$1.10 \$16,346.00 \$600.00 \$600.00 \$3,600.00 \$100.00 \$14,000.00 \$42,000.00 \$13,500.00 \$40,500.00 \$65.00 \$11,895.00 \$58.00 \$10,614.00 \$141,240.00 \$141,760.00 \$223,416.00 \$226,669.00 Yes Yes

Yes

Yes No

Boon Construction		LLC Lehman		Don Schnieders Excavating Co.		HOUF Contractors, Inc.		APAC Missouri, Inc.	
Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
\$10,000.00	\$10,000.00	\$11,100.00	\$11,100.00	\$7,000.00	\$7,000.00	\$9,372.00	\$9,372.00	\$26,800.00	\$26,800.0
\$3,500.00	\$3,500.00	\$3,300.00	\$3,300.00	\$3,000.00	\$3,000.00	\$2,400.00	\$2,400.00	\$2,600.00	\$2,600.0
\$3,200.00	\$3,200.00	\$3,000.00	\$3,000.00	\$3,300.00	\$3,300.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.0
\$10.50	\$17,430.00	\$7.50	\$12,450.00	\$5.00	\$8,300.00	\$6.00	\$9,960.00	\$14.00	\$23,240.0
\$8.60	\$6,966.00	\$11.00	\$8,910.00	\$7.15	\$5,791.50	\$8.00	\$6,480.00	\$13.25	\$10,732.5
\$4.20	\$2,310.00	\$4.75	\$2,612.50	\$10.00	\$5,500.00	\$7.00	\$3,850.00	\$14.00	\$7,700.0
\$3,050.00	\$3,050.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.0
\$13.00	\$884.00	\$19.00	\$1,292.00	\$20.00	\$1,360.00	\$30.00	\$2,040.00	\$20.00	\$1,360.0
\$13.50	\$1,863.00	\$21.00	\$2,898.00	\$20.00	\$2,760.00	\$17.00	\$2,346.00	\$19.50	\$2,691.0
¢12.40	φ5 410 00	#21.00	фо. 177 oo	#20.00	фо. 740 OO	¢15.00	ф. 555 OO	¢16.00	ф.c 000 0
\$12.40 \$22.50	\$5,418.80 \$23,625.00	\$21.00 \$23.00	\$9,177.00 \$24.150.00	\$20.00 \$20.75	\$8,740.00 \$21,787.50	\$15.00 \$28.00	\$6,555.00 \$29,400.00	\$16.00 \$20.25	\$6,992.0 \$21,262.5
	\$2,800.00	\$500.00	\$24,130.00	\$3,800.00	\$3,800.00		, , , , , , , , , , , , , , , , , , , ,		. ,
\$2,800.00	\$2,800.00 \$81.046.80	\$500.00	\$81,889.50	\$3,800.00	\$73,339.00	\$3,420.00	\$3,420.00 \$81,823.00	\$3,000.00	\$3,000.0 \$113,578.0
	\$81,040.80		\$61,669.30		\$75,559.00		\$61,623.00		\$115,576.0
Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$3,960.00	\$3,960.00	\$4,000.00	\$4,000.00	\$6,400.00	\$6,400.00
\$120.00	\$1,200.00	\$170.00	\$1,700.00	\$105.00	\$1,050.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00
\$37.00	\$15,910.00	\$58.20	\$25,026.00	\$62.20	\$26,746.00	\$45.00	\$19,350.00	\$42.00	\$18,060.00
\$500.00	\$53,000.00	\$480.00	\$50,880.00	\$632.00	\$66,992.00	\$650.00	\$68,900.00	\$649.00	\$68,794.00
\$1.00	\$14,860.00	\$1.10	\$16,346.00	\$1.07	\$15,900.20	\$1.20	\$17,832.00	\$0.90	\$13,374.00
\$460.00	\$2,760.00	\$6.00	\$36.00	\$510.00	\$3,060.00	\$700.00	\$4,200.00	\$725.00	\$4,350.00
\$15,000.00	\$45,000.00	\$13,750.00	\$41,250.00	\$14,300.00	\$42,900.00	\$12,000.00	\$36,000.00	\$11,700.00	\$35,100.00
\$61.00	\$11,163.00	\$56.43	\$10,326.69	\$60.00	\$10,980.00	\$65.00	\$11,895.00	\$56.43	\$10,326.69
	\$145,893.00		\$150,564.69		\$171,588.20		\$163,177.00		\$157,404.6
	\$226,939.80		\$232,454.19		\$244,927.20		\$245,000.00		\$270,982.6
	Yes		Yes		Yes		Yes		Yes
	Yes		Yes		Yes		Yes		Yes
	Yes		Yes		Yes		Yes		Yes
	Yes		Yes		Yes		Yes		Yes
	Yes		Yes		Yes		Yes		Yes
	3.7		Yes		Yes		Yes		Yes
	Yes								
_	Yes		Yes		Yes		Yes		Yes
		_			Yes Yes Yes		Yes Yes No		Yes Yes No

rage
Total
1 otai

\$13,877.20
\$2,800.00
\$2,380.00
\$12,118.00
\$6,682.50
\$3,973.75
\$2,814.00
\$1,226.72
\$2,357.04
\$7,184.28
\$24,129.00
\$2,540.00
\$82,082.49
\$5,136.60
\$1,218.00
\$17,492.40
\$56,169.40
\$15,454.40
\$2,355.60
\$40,680.00
\$11,288.54
\$149,794.94
\$231,877.43